EARAZROREIERT — 2 N—XBISY —F 2014558158 (&) EIAFH5H

mﬂﬁ%Sﬁ 183AFLE235AKHE ‘ [xz] & ‘ [eErsm]  — | &4 (&) 1400M FAE
[x&<£] 1% :1,300,000 @ ~ 23%&:390,000 37 :234,000 M ~ 43 :156,000  ~ 5 7 :130,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
R bk ] :28. -1- . — FH 5z (KFH)
1 o | TARA Y R i3 54.0 1(2_8)4 | 39.2 6 ig; JtieE=
R:TSATLRE14 L B4R FOyF Eld=tie
3 s it 3 | HEDIHA 1:28.7 476 [38.8| — 2 497 | SIRERHE (/\HK)
2 3 HIAFY 54.0 (1 3/4) () |FHEEE
LZLRAL Y E—T B:AUHI pailz:be )
. o, i 3 | AR 1:29.1 532 |39.7| — 5 516 |SAE (k3H#)
38|13 B-LxnEXX 54.0 @ Gy | HETE
L7274 3IVF—- B:O-L ICTN— H#BRHE
- HARREER : 14— — BERANE (K3H)
al5lg | RILTIAF 0 4 3 s 1(72?:; 13-14-14 | 38.0 13 <4+210) A
R:TFATLREA L B:RFTYUX RIS a9 211415
S gy 1090 " 5| — | 7 | 40 |StRE (0
5 61 T7T7IF7I i 3 e (1/92> 3-4-5 | 39.5 (gO) Py s
RV ILANRT BHYHFLRILL L £ H IS
S = B 3 | FHEFEA 1:29.5 7-10-10 |39.3| — 1 445 | SIE=BE (KFH)
61111 E-E—-Z77J)L 54.0 (1 1/2) (+8) BERZE—
L:yrh—r BE-E-TLvy b RAREHS
. 4 3 | KEE 1:29.7 1-2-3 | 40.4| — 12 | 453 |EEMME (KH)
] 4| XIRA> 54.0 (1 4s) | B BT3B
LT v TRy b BTAT LMy — E=HT 7 — L
S A B3 | Wismt 1:29.7 6-4-4 | 40.1| — 3 426 | SEFEARGA (4viF)
81711 JI>3— 54.0 (") (+4) REES
LY IRGT4 TS5 BTUELH— 77> NG
= = EIREER :29. —12- . — KiZEz (KH)
9 9| 75752+ it 3 i 1(12/92;; 13-12-13 | 38.9 8 (i?s) E¢§§
RiFALN=—HL Y= BNRYZT RS EKS
S S S f 3 | BER 1:29.8 9-8-9 [39.9| — 1| 450 |3BITIZ (vE)
1018114/ 772V 71\HZ 54.0 (7€) (3) | WK DEFALE
L:A—Y XL x4 B:twr71—L L4
S : s 3 | HIIE 1:30.2 12-13-12 [39.2| — 4 461 | BREIEE (KH)
157|771 HY b= 54.0 @ (1) | tEREEER
R:TTyk—y B:440-<UF #1145
N 4 3 | DOEEFNIE 1:30.5 9-9-8 | 40.6| — 10 21 | HFRERE (M)
12 5 a1 YILIN—F 1 — 54.0 A 1/2) (+3) (B) 28y T - T—IFK
R:xA21=Gr—X B:eHINIARXH Frallisis
SRPETEN 43 | MR 1:31.3 11-11-11 [40.8| — 14 | 454 |BARE (KFH)
1310 21>V~ 54.0 @) (o) | B 77— rEVar
L ZZXHwR B:FLHr/ IR EOHS
. i # 3 | REEE 1:31.4 7-6-7 | M1.7| — 9 439 | A=K (KH)
1407 |12| v b T =R 2 — 54.0 (1/2) (o) | MR
LY L4 N—b B:A4TxYF1—% KiEHE
® 1—F—@EBIERL
13—7-—
23—+ — (2,4),6,3,13,11,(1,12), (5,14) ,10,7,(8,9)
Ja=5= 2,4,13,(6,11),12,3,14,5,1,10,9,7,8
40—+ — 2,13,4,11,6,3,12,5,14,1,10,7,9,8
[ N5
B O 2 1,550 714K 2-3 1,310 e E 2-3 3,470M JEE 2-3-13 11,180H
B B 2 370M 2-13 1,800M e B 2=3 6,130M EH 2=G=1& 71,830
3 210M 3-13 970M B & 2-3 3,570H
13 290M B HE 2-3 7,510

ABICOVWTRDTEEERROODE. TR LIV,



